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Exam 1 (September 24, .1999‘) L i
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attributed to his being conceived under the mwﬁwmm Knomand:
dreamed of leaving home and exploring the werll. @i siidaz e alle Wils Wheaties amd
decided the Lime had arrived! So he rubbed legs with/isiiien s set off (0 see the

Con: Wi xRy olf Wi i ot g e ool peoiet: of thar first leg), Leonard walked
500wt sanilh.

Om the diiind leg of s rip (shaiting ot emd puiint of secend beg), Leonard walked 5.83
melers in a direction 309 degrees enst of sisrtlh.

On the final leg of his trip (starting at the emd point of the third leg), Leonard walked
3.00 meters east.
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Problem 3 (25 pis)c

AMEMW!’W.HIlndisotlservedtohulheigu.y,m&w'
dicsoisadiby ¥ =~ St - B, where A =23 m/s and B =53 mi’".

@) What istic-iuitial velacity of the ball?
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(b) What is the acceleration of the ball as a function ef Gime?
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(c) What is the average velocity of the ball betwosn. t=8:snoonils-anie-2:sneomils?
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(d) How mach time elapses before the ball retwres to the height firom which it ws throwe?-
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Problem 4 (25 pis):

Episede Il in the saga of troublesome Leonard Gercia, the young prasshopper
Young Lesmard was sot satisfied with bis first sdventure. So he decided to take another
trip. This Geme be chose to hop alang instead of walking. Afier rabbing begs with his
#  uanther, Leouard bo wpward in a direction of 38 degrees with the vertical with an
fa velacily sl mis. Unfiortmmately, he didu't look where be was going and hit a tree
branch right whea be reached the pesk of his motion. Immediately after bitting the branch,
Leonard fell to the ground and declared his second jowrmey over. Air resistance may be
scglected througbout.
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(a) How muwch time elapses during Leonard's jowrmey?
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